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PREVIEW QUESTION BANK(Dual)

Module Name : Physical Education
Exam Date : 13-Jun-2023 Batch : 09:00-12:00

Sr. || Client Question . . Negativ
No. D Question Body and Alternatives Marks Marks

Objective Question

147001 e following table shows Net National Income (in Lac Crore) and Per capita Net National Income (in thousand) of India during the 3

year period from the year 2015 -16 to 2019-20. Based on the data in the table, answer the questions that follow:

Net National Income (in Lac  |Per capita Net National Income (in
Year

Crore rupees) thousand rupees)
2015- ||, -
16 122 93
2016-
17 136 105
2017- ||, - 2
18 151 115
2018-

T 2

19 167 126
e i 132

What is the average per capita Net National Income (in thousand rupees) per year?

.103.25
1146
.110.3
.108.6

2 & 715 arferet 7 @ 2015-16 9 2010-20 T 5 a9 B SAY P GRM VRA DI Fad AP 31 (@RI PRI F0d T) SR ufcreafaa
fHae YTy 11 (FSIR =0 ) IS 715 ¢ | A1 [T Y Sfidsi & STUR W A< QU IQ ¥l &SGR &

b =

Lo

- (g TEig o (e |Hidedfdd g TP o (R
RIS Tl H) = H)

2015-16 122 o5

2016-17 136 105

2017-18 151 115

2018-19 167 126

2019-20 177 132

ufd o v eafed 3iad Fad AP Sy (§9R =90 H) 31 82

.103.25
. 114.6
.110.3
. 108.6

b =

L

Al
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Objective Question

2 47002 e following table shows Net National Income (in Lac Crore) and Per capita Net National Income (in thousand) of India during the 3

year period from the year 2015 -16 to 2019-20. Based on the data in the table, answer the questions that follow:

. Net National Income (in Lac  |Per capita Net National Income (in
ear
Crore rupees) thousand rupees)

2015- |14, -
16 122 93
2016- x
17 136 105
2017- [«
1s 151 115
2018-

T 2
19 16 126
2019-
0 177 132

In which year the percentage (%) increase mn the Net National Income over the previous year was maximum?

.2019-20
. 2018-19
.2017-18
4.2016-17

e &1 715 arfere 7 9 2015-16 9 2019-20 T 5G9 B 3{AfY & ARH YR i (I AP 3T (A1 S T2 H) 3R Ufcoaiad
fFiae AFTT 37 (@SR Fud 7) 39is 715 8| difael § U MY s & 2UR oR = 4T 10 el & SR &

o =

S I

- (o apig o (g |wfdedfad fHaa TP o (89R
P FULH) Y )

2015-16 122 95

2016-17 136 105

2017-18 151 115

2018-19 167 126

2019-20 177 132

&g o fUse oy @1 garn & Faa g sma & uiiRm (%) 3fs siftaan o

.2019-20
.2018-19
.2017-18
.2016-17

b =

S Y]

Al

A2
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i Net National Income (in Lac  |Per capita Net National Income (in
Crore rupees) thousand rupees)

;gli— 122 95

%g - 136 105

‘;g N 151 115

2018 e 126

gg . 177 132

Pt g

~6.2%
~ 4.4%
~7.1%
~3.1%
T2 2t 7rs arfereT H 9 2015-16 ¥ 2019-20 GF 5 I8 I 3@ F SR YRG! g
e Pty o (SIR 2 H) xS 7T ¢ | diferenl 3 ST U 3fieps] & suR | A Ry T uei & SR &

With reference to the year 2015-16 , the pereentage growth in the population of India by the year 2019-20 is

- (gt TPty o (g |wideniad o BT 3 B9k
CREELLE)! a0 H)

2015-16 122 95

2016-17 136 105

2017-18 151 115

2018-19 167 126

2019-20 177 132

e

o

Al

A2
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~6.2%
~4.4%
.~ 1.1%
~3.1%

Ty 2015-16 % Had] . YRd P 8@ § a¥ 2019-20 T% o wfawrd i 532

47003 Tpe following table shows Net National Income (in Lac Crore) and Per capita Net National Income (in thousand) of India during the 5
year period from the year 2015 -16 to 2019-20. Based on the data in the table, answer the questions that follow:

T 3 (@ IS =0 ) SR ufdeafdd
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Objective Question
4
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Net National Income (in Lac  |Per capita Net National Income (in
Year

Crore rupees) thousand rupees)
2015- -

22
16 122 95
2016- &
17 136 103
2017- ||, <
13 151 115
2018-
T 2

19 167 126
2019-
0 177 132

o e

o

~38.94%
~ 48.24%
~30.61%
~ 42.40%
T2 & e arferet § 9 2015-16 9 2010-20 9F 5 a8 @ @Y & SR- URA &1 Hgd
faa AT 3 (FWIR Tud H) TiE 9% ¢ | i H fGU U sfidsi & STYR 1R A AU T U=l & SR &

What is the percentage increase (%) in per capita Net National Income during 5 years (i.e 2015-16 to 2019-20 )?

- [EESEE R NG CI BIRE CSAECRR R IR CE N
GRS R = H)

2015-16 122 los .

2016-17 136 103

2017-18 151 115

2018-19 167 126

2019-20 177 132

FRiAn

Al

A2

A3
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~ 38.94%
.~ 48.24%
~30.61%
~42.40%

5 NI (31 2015-16 F 2019-20 ) Ufdieafar e AP 2a & fba Ulawd (%) 3fs §52

47004 The following table shows Net National Income (in Lac Crore) and Per capita Net National Income (in thousand) of India during the 5
year period from the year 2015 -16 to 2019-20. Based on the data in the table, answer the questions that follow:

VT 31 (AR RIS =0l H) 3R Ufdoafed
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47005 The following table shows Net National Income (in Lac Crore) and Per capita Net National Income (in thousand) of India during the 3
year period from the year 2015 -16 to 2019-20. Based on the data in the table, answer the questions that follow:

. Net National Income (in Lac  |Per capita Net National Income (in
ear
Crore rupees) thousand rupees)
2015- |14, -
16 122 93
2016- x
17 136 105
2017- [« ;-
1s 151 115
2018-
T 2
19 167 126
2019-
0 177 132

[

. 135.68
. 138:35
3.140.17
4.143.34

2 <1 775 afere # 9 2015-16 § 2019-20 G 5 I8 i 37afe) D SR YR B! el AP 319 (ARG BHRig =9d H) 3R Afdodfad
i APty S (§SIR &Ud H) i 11§ & | dlicidl 3 QU AU Sfiers! & SUR TR i 3T T w2l & JTR o

Assuming that the per capita Net national Income grows beyond the year 2019-20 at the average annual rate of increase (%) of the perioc
(2015-16 to 2019-20) . what will be its value (in thousand %) at the end of the year 2020-21 7

- (o TP o (e | Hidodfdd Haa TP S (89IR
GRS R = H)

2015-16 122 'QS

2016-17 136 J105 " |

2017-18 151 115

2018-19 167 126

2019-20 177 132

b =

L

Al

A2

A3

.135.68
13835
. 140.17
.143.34

g8 U §U fob ad 2019-20 & &1¢ Hfcieafard ae AP1T <1d & gfe ¥ 2015-16 ¥ 2019-20 B 37afd BT A1Hd alitied gfg & (%)
SER gl 6. a1 G8 2020-21 F 3fd T 5UHT I (T9IR =44 H) T8
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3
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Objective Question
6 47006 Which of the following are not the characteristics of teacher- centered methods of teaching?

A. Students are passive learners

B. Teachers act as facilitator for learning

C. Teacher directs learning activities

D. Learning is based on collaboration between students
E. Learning is based on student interest

Choose the correct answer from the options given below:

1.LA.C&Donly
2.B & E only

3.B.D&E only
4. A & C only

P oS- faRwand sremge Hisd fRiaor faf 1 foRwand 72 82

A. faemdf fAfSpg siftrmedl €19 1

B. YD ST §q JaTeAddl & =9 F B B o
C. 3D ST Miafafidi @ e fid o3 8

D. 3fftrTy faenfifal & & Searmers srerRa afear gl
E. 3fforra faemdf sl snuia giar ¢ |

A4 feu Y fasedl o 9 UEl 3R o1 984 Sifeig:

1.FFAA, C AR D
2. HIABIIRE
3. %dd B, D 3R E
4.FFAAIARC

Al

A2
A3
A4

4

4
Objective Question

7 47007 Which of the following is a tool used for creating and sharing online learning games?

1. Mentimeter
2. Padlet

3. Kahoot

4. Zoom
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TS ST Gl & gor SR WeeR! § FERiad § 9 $1H-8 SUHR0 &1 FaT a1 oIl 82

1. "fetdier
2. Usde
3. Pgd
4. 9H

Al
A2
A3

Ay

4

Objective Question
8 47008 wwhat are the various salient features of formative evaluation?
A. Tt provides feed back to the teachers to use teaching strategies according to the needs of the learners
B. It helps learners to actively and continuously engage in learning
C. It helps in enhancing the learning abilitics of the learner
D. It contributes to the overall grading and certification of the learner
E. It "sums-up' how much a student has learnt over a period of time.

Choose the correct answer from the options given below:

1.B.D & E only
2.C & E only

3.A.B&Conly
4. A &D only

Fotoere geaie @ fafay wige fasivant o1 52

A T8 el 1 savgedrsfl & SHR Rier UFETET & T @ 1Y seamus| @1 uiqyfy Uar Sl g
B. Ug franfefal &t srftnms § afghy 3R 999 0 ¥ I &3 & Gedl Hdi g

C. g5 Feniial 3t fem <ad1 &1 geH I Hee dral gl

D. U8 Rrenfiial & g9y ¥ 3R wHoE § 9ieH HRar gl

E. T Rienfiai &1t sramafy & e it %1 9R wgd Rdi g

A feu T famed § 9 981 SR &1 99 Siforu:

1. %94 B, D 3R E
2.Had C IRE
3. HITA. B3R C
4. PITANRD

Al

A2

A3 5

3
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Objective Question

9 47009 Given below are two statements:

TR aHUERUMUE:

P 1 - el &1 wiegias ggyh

58_Live_PhyEdu_B1_E_1-100.html

Statement I: A learner's cultural background has no impact on his/her learning experience.
Statement II: Gender is not a strong predictor of academic achievement.

In the light of the above statements. choose the correct answer from the options given below

1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false

4, Statement I 1s false but Statement II is true

BT IS SHTH 1 IR Plg UG Tl USdl g

YT AR 1 ST 9T §
HYT IR U SH TEd &

[ S

N ¥ ]

Al

A2

A3

Aty
4

Objective Question

10147010 § fatch List T with List TI

HY 11 : iffidr Qe Uty &1 Ued R gl gl

SR Y- & 3{Tale 1, 4 3L fddhedi ¥ 3 9a¥ Iugad IR &1 997 Sifig:

DY 1 eI 8. Afte Y= 11 T &
YT I TIed &, Wb DU 1 Tel &

LIST I (Three Approaches of LIST II (Disciplinary
Education) aspects)
A [Teacher- centred 1. |Shared, Participatory
B. [Learner- centred II. Imposed
C. |Learning -centred I11. |Self-controlled

AL B-IL. C-1
. A-L B-II. C-III
. A-IL B-I, C-III
. A-IL BAIIL C-1

B

Choose the correct answer from the options given below:
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it 1S 1Y Gl 11 1 fire= Hifeie

RT3 1 (1R1&0 & a1 SURTH

11 ([T STaTH)

A

AP Dlad

Gl
L

RERGEIUN

B.

et i

IL

ERIEG

C.

STERTT B

118

Al

A2

A3

A4

11

oW

1
2
3
4

. A-IIL B-IL. C-I
. A-L B-II. C-III
AL B-I. C-III
A-IT B-IIL. C-I

4

4

Objective Question

.A.B &C only
.B.C & D only
A . C&Donly
AB.C&D

A, Lack of informed consent
B. Physical and psychological harm
C. Excessive inducements
D. Debriefing

i fau U fasedi T 9 TE1 3R &1 984 BIiod :

58_Live_PhyEdu_B1_E_1-100.html

47011 \Which among the following would be the ethical issues in a research study that involves participation of human subjects?

Choose the correct answer from the options given below:

ST SrHY Sea= T T &1 UfayIiTa gidll 8 394 Fmfafad o € $F 9 el dae g8 9w o 8

A, gfa=TiRd geH(d @1 3r4a

B. YNNG 3R FAAIHS JHam

C. 3D YelHA

D. 3G & SR H SHBR] &1 (31 sl

14 fau e fdedl & 9 96l SR &1 =0 DI
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A3

Ay

4
Objective Question

12147012/ \which aspect of the researcher may cause psychosocial effect in the participant of a study?

1
2. Race

3
4, Attitude

Al
A2
A3

Aty

4
Objective Question

13147013 Given below are two statements:
Statement I: In a ratio scale, zero point is arbitrary
Statement IT: The nominal scale allows ordering/ranking of data

In the light of the above statements. choose the correct answer from the options given below

1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false

4. Statement I is false but Statement II is true

file:///C:/Users/Administrator/Downloads/58_Live_PhyEdu_B1_E/58_Live_PhyEdu_B1_E_1-100.html 10/65
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ﬁﬁmmﬂ}ﬁ:ﬁ fog ad=s glaT g

FYA T : A T fegy I

PYF 11 ; AT A9 B st 31 HH HyRe /3w HyRor oo s aearg |
SWRIT DY & el 1, - [3U 7Y fddedl H 3 9a¥ Iuge IR DI 99 Biig:

Y1 AR 1 ST 9T §
HYT 1 AR U SHI TEd &
L HYT I Ul 8. AT HY I TEd §
 BYF 17TeTd o, dlich] YA 1T U8l ©

b2 =

=

Al
A2
A3

Ay

4

Objective Question

Given below are two statements:

Statement I: The standard deviation of a series of repeated measurements estimates the likely size of the chance error in a single
measurement.

Statement II: Bias affects all the measurements the same way. pushing them in the same direction.

In the light of the above statements. choose the correct answer from the options given below

1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false

4. Statement I 1s false but Statement II 1s true

TRy

gﬂﬁl : IR-SR [T 70 A9 @1 g1 & A [d=e 9 il U 5Iu- o1 9idifies Fic & GHIdd PR &1 SHTHH I Sk
l

HYF 11 : gare Gt ATl B THE RS I nHIfad FRaT 8. 3% 0P ol 52 H e g

SWRIT Y & el 1, - [3U 7Y fdbedl H 3 9a¥ Sugea IR DI 99 Biig:

Y1 AR 1 ST 9T §
HYT1 AR U SH TEd &
L HYT 19l 8. AT HU I TAd §
L HYT 1A S, AfFT BUT I Tel g

b2 =

= W

Al
A2

A3
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3
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4

Objective Question

15 147015 A researcher obtains the following p-values for sample correlation coefficients of different samples. Which of these can be considered

significant at 1% level of significance?

A, 0.004
B.0.99
C. 0.995
D. 0.001
B. 01

Choose the correct answer from the options given below:

1.B & C only
2.B.D&E only
.A &D only
.B.C & E only

TS SHYHEd! (A= gicas & uiaas geddy Ui & oy FEfaiad p-m ord Sd1 & | ReieiEd o 9 &8 19 grded
TR W 91a A o Il 52

S )

A.0.004
B.0.99
C. 0.995
D. 0.001
B.0.1

A feu 7T fomedl § 9 981 SR &1 944 Difuig:

1.FaaB AR C
2. $9d B, D IRE
3.99d A 3R D
4. %9 B.C IRE

Al

A2
A3
A4

4

4
Objective Question

16147016  1f information flows from the media to the opinion leaders and from them to the target audience, the process is known as

. One-step-tlow

. Two-step-flow

. Step-by-step flow
. Multi- step flow

[ SR

L
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1S Y1 1 YaTe Hifsar I S Joidl a® iR R 37 Qe SR o 8idl ©. a1 I8 i al Heard -

1. U% <RI ¥aT8
2. fg R vER
3. TflI® 901 yare
4. 95 RO VA8

Al

A2

A3

Ay

4

Objective Question

1747017 Erom the view point communicators language and other symbolic systems are

. Inactive tools
. Economic targets
. Social targets
. Cultural fantasies

ot & TP Y U SR 3T WellarTede Jumferdr ¢:

B

1. Ffspa Jgas

2. 31 T

3. WIS IAE

4, TP lae TWR el

Al

A2

A3

Aty
4

Objective Question
18 47018
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Which of the following are true in the case of audience for analog media? They are:

A. Personally addressable
B. Active campaigners

C. large

D. Heterogensous

E. Anonymous

Choose the correct answer from the options given below:

1. A.B. C only
2.B.C.D only
3.A.B.E only
4.C.D, E only

T HifEa & Giar d oee § FEkied 8 4 eH-8 9d 829 8 -

A, TG 9 ¥ gare=y
B. Tfery iftraeasal

C. 9o g o

D. fawm

E. 3

i feu U fadedi O 9 HEl 3R &1 90 SIfoig:

1. PaAA. B IR C
2. $adB, C ARD
3. PATA. B IRE
4. %90 C, D IRE

Al

A2
A3

Aty

4
Objective Question

19147019 Given below are two statements:
Statement I: The centralised control of signs and symbols of mediated communication may affect plurality of opinions on the Internet.
Statement IT: The global corporate owners of Internet companies aim only at profits, not the existence of pluriverse.

In the light of the above statements. choose the correct answer from the options given below

1. Both Statement I and Statement IT are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false

4. Statement I is false but Statement II is true
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9 S pyE Ry E:

T 1 : Tafed THYU & bl 3R Tdieh] BT Pa1gd HIAT se-ic TR Ul I Sgadl I HHIad & Ibdl g |

FYA 11 : S DY P 1RGP BRUNE TS| BT I5¥ Had a1 PAMT BIA1 5. 7 1 Sgaral TR ST ([IRaW) BT 3Kk
A G

TR DY & 3feiie H, 1 13U 7Y fawedl & F 981 TR D1 997 DI

HYTI AR U SH T
HYT1 AR U AT 3T B

PUYT I S, AP T HYT 1 3A ©
PYT 3T R, AP euTnad e

[T

N ]

Al

A2

A3

Ay

4
Objective Question
20 47020 Negative communicators usually express
A Verbal softness
B. Optimism
C. Pessimism

D. Resentment
E. Distrust

Choose the correct answer from the options given below:

.A.B. Conly
.B. C.D only
.C.D.E only
4. A.B. E only

TPRITS GUYP JIHI: o] P %’

b =

¥

Hi ST T fasedi § 9 el IR BT 99 Bifelg:

1. FFAA. B3R C
2. %dd B, C AR D
3.%dd C, D IRE
4. FPAAA.BIARE

Al

A2
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A3

Ay
4

Objective Question

21 47021 What number would replace question mark (?) in the series given below?

3,8,17.32,57, 2. 177

1. 100
2. 89
3.95
4. 106

2 € 7T S H (2) e & iF WS-8 g8 s

3,8,17,32, 57,2, 177

. 100
89
.95
. 106

ko =

S I

Al
A2
A3

Aty

4
Objective Question

22 47022 1fin a certain code 'Generalization' is written as 52627134819406 . how the word 'Oreganos’ be written in that code?

1. 07521680
2.07251608
3. 07251806
4.72085106

Ilﬁ Tt D HME T 'Generalization' B 52627134810406 & ¥4 T forar ordm % a3y D HMI pij 'Oreganos’ Yeg G| ﬁ GG
SIa?

. 07521680
. 07251608
. 07251806
. 72085106

R

Al
1

A2,
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Ay

4

Objective Question

23 47023 Salary of a person decreases by 10% every year and his bonus increases by 24% every year. If his salary and bonuses at the end of 2020

were Z 8000 and Z 2500 respectively, find the difference between his total earnings in March. 2020 and March 2022.

. Z 165, increase
. Z 176, increase
. Z 180, decrease
. Z 176, decrease

Tt cafdd @1 30 TP ay 10% Tedl § AR ITPT 319 T a9 24% Fadl ol i A/ 2020 & 3id H 39S 37 AR a9
R F. 8000 R . 2500 A 1 A, 2020 3R AT 2022 T 3T Tl 319 & §19 SR I Do

o =

S T

. 165,92

F. 176, 9%
.. 180, HH

=, 176, B!

b2 =

W

Al

A2

A3

Ay

4
Objective Question

24 47024 e population of a village is 11000. If the number of children increase by 11% and the number of adults increase by 20%. the
population becomes 12660, Find the population of children and adults separately in the village.

. 7000. 4000
.4500. 6500
. 6000. 5000
. 5500. 5500

fopeit 7ifa &t SieAT 11000 B 1 A1 Tl @ ST T 11% I df sidl § SR 90! & T@1 H 20% B 9fG il 6. af orae
12660 BT 9Tl &1 39 7iTd § sral 31R qUwh| P1 ST ST ST 31 SIfeiU |

B

. 7000. 4000
. 4500. 6500
. 6000. 5000
. 5500. 5500

R

Al

file:///C:/Users/Administrator/Downloads/58_Live_PhyEdu_B1_E/58_Live_PhyEdu_B1_E_1-100.html 17/65



6/13/23, 6:46 PM 58_Live_PhyEdu_B1_E_1-100.html

A2,

2

A3 5

3

Aty

4

Objective Question

25 (47025 . . L. . , , :
There are fifteen successive percentage discounts given in a series of 2%, 4%, 6%. 8% on an item. After how many such

percentage discounts in succession will the effective discount be higher than 50% ?

. Tth
. 10th
. 8th
. 6th

fe ! g W 2%, 4%. 6%, 8% 1 el 1 Usg HHNTA Uicd B¢ &l Sl g | Ul a1 shrmTd Uiiid 9ei o u=ard WuTdt
B¢ 50% I 3P gl Sgio

b =

Lo

_7al
. 1odl
. gdl
.6dl

b =

= W

Al
A2
A3

Aty

4

Objective Question

26 47026 1) the light of 'Causation’ which of the following is incorreet?

A, Qualities of cause are accidental antecedents

B. The cause of the cause is not the cause.

C. The co-effects of a cause are themselves causally related

D. Eternal substance like space are not unconditional antecedents.

Choose the correct answer from the options given below:

.A&D only
.B & C only
3. C only

4.B & D only

o =
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PY-BRUT & e T FEfiRad 8§ A o H-91 oY 3/d 82

A. fd R & 701 SiEife gdad B

B. BRUI ] HRUL. HRUITE! &

C. HRUT P Y-HH1T W4 309 § S-SR & T+ ¥ S 8 ¢
D. 3iafel S w=ad uard 3ird gdqd el o

A feu T fa e § 9 981 SR &1 994 Biferg:

1.PaTA&D
2. FGAB&C
3. %A C

4.$PdAB &D

Al
A2
A3
A4

4

4
Objective Question

27 |47027 Identify the fallacy committed in the following argument:

"There must be intelligent life on other planets. No one has proven that there isn't".

1. Appeal to ignorance
2. False alternative

. Slippery slope

. Hasty Generalization

FfeRad gfdd o siiHigd ddamy o1 UgaH Bifo -

<R A5l R i §fEHM siie g1 aifeu) snft 0@ ois oft 7% fag Tl ar v 8 s dwr =i 1

Y]

1. RRHYAS giad

2. g faemeg

3. fhg-Toged g

4. Jfd=g IrE=diEIn

Al
A2
A3

Aty

4

Objective Question
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I

LIST I (Fallacies)

| LIST II (Description)

. |Bandwagon Argument] I |Arguer misrepresents an opponent's position.

Strawman Argument

II. JArguer assumes the point to be proven.

[Red herring Argument| IT1. JArguer appeals to reader’s or listener's desire to be accepted or valued

o|o|wl|s

. [Begging the question | IV. JArguer tries to distract the attention of the audience by raising irrelevant 1ssud]

| S

- A-IV. B-I1. C-II1L.

o

Choose the correct answer from the options given below:

. A-IL B-IV. C-1. D-III

D-I

AL B-I. C-IV. D-IT
A-L B-III. C-IIL. D-IV

eIt 1% 1Y Gl 11 1 foreiH Py

&t 11 (R

_T%Imﬁm
A e gidd | L

[afad o arr el @t sfafufd o1 Ted TRgd &xdl &
B. [ diad | I [3fdd & el g [0 SIH arell ard &l 5 $% 90l &
c. ket gaa | 1L [ofea &7 aren ue® @1 o1 ©1 %90 & Hoda ol 31 ISR A aiH S A1 B ATH0d DIl o
D. [3r@meg &N | IV, [fad & arer Sidna &1 & g & (ol s, U=l Bl 3o1dl &

Objective Question

horns: it is called

. Segavat Anumana
. Samanyatodrsta
. Paksadharmata

B

1. gdad 3EH
2. XYad HTHH
3. AHERIAIERT
4. Gerear

i feu U fadedi T 9§ 9l 3R &1 98 B ;

D-I

1. A-II. B-IV. C-1. D-III
2. ATV, B-I1, C-I11,
3. A B-1, C-IV, D-11
4. A-I. B-II1. C-I1. D-IV
Al
1
A2,
2
A3 3
3
Aty
4

. Purvavat Anumnana
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29 4702 : : , . o . . . o - . .
9 47029 When inference is based not on Causation but on Uniformity of co-existence as in the case of inferring cloven hoofs of an animal by it's

e S DR-HRUI YqY TR TR o1 5101 §ieh He-3&ied &1 UH=udl UR 1R Bial 6, o1 [Tl & 31UR Wl gy e
fagiol =i &7 30 L ol o8 T $Ed © -
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Al

A2
A3

Ay

4
Objective Question

30 47030 hgound is eternal because it is produced’ refers to which of the following Hetvabhasa?

1. Badhita

2. Virruddha

3. Asiddha

4. Savyabhicara

43 TMead & TP T8 IO I ol o - T8 duA = T T {59 Sy &1 Jod axdl 87

1. FTied
2. fa%g
3. 3%
4. JATER

Al

A2
A3

Ay

4

Objective Question

3147031 A smart home application that automates the controlling of lighting. temperature, entertainment system and appliances is an example of

. Evolutionary computing

. Nature- inspired computing
. Bio- inspired computing

. Ubiquitous computing

% H1E 811 Ui e ol YT, dTdsd, R Hunal 3R SUERul &f Wa: (Hafd a=dr 8, Fefafad s13eu e

b =

o

1. SARFR] BIgfeT
2.7 RS
3.&1@@%@
4. glafagey wrgféT

Al
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A2
A3
Ay

4

Objective Question

32 47032 Identify the correct order of the term A-E given below that completes the paragraph decribing a method of operation for a keyboard.
A computer keyboard has a key matrix underneath the keys when a key is pressed. it presses a switch that completes a

This allows to flow. The location of the key pressed is . The location of the key pressed is compared to a
map to find the value for the key that has been pressed

A. Binary

B. Calculated
C. Character
D. Circuit

E. Current

Choose the correct answer from the options given below:

ko =
0o
Mo mo
W W
nEHAN
i

o

2 AU A-E 0% & Ual () & Tl Sl Pi fai-cd B3 il PI-81S & Hee D1 HUMTel! &1 g0 SR-aTd RIS Pl G- Rl
TP HR & B1-a1S T oil (B & Aid DI-HCad oidl & | 5d D" DI gl I1d1 & dl 399 Us fad ggdi g of kel

GG Yaried 61 Ol © | GaTs 715 ‘@1 &I Sfafeufd Il 81 GET% 75 ‘@1 Bl Sfafeyfd i qa1 U
IHRE S ot o1l § aift <81 715, ‘@ @l I U TS 9% |
A SR (fgamymh)
B. TIUFT
C. PER

D. IR9Y (@fde)
E. faggd uRrT

i feu U fadedi I § HEl IR &1 98- difeig:

m O i
W W w
omon
o=

bl S
> 0o

Al

A2

A3

A4
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Objective Question

3347033 Given below are two statements:
Statement I: Internet is commonly used service on the World Wide Web.
Statement IT: HT TP is the protocol that web browsers and web servers use to communicate with each other over the Internet.

In the light of the above statements. choose the correct answer from the options given below

1. Both Statement I and Statement IT are true
2. Both Statement I and Statement II are false
3. Statement I 1s true but Statement II is false

4, Statement I 1s false but Statement II 1s true

TR eyiRume:

PYT1 : SeXIc, A¥aP 39 (Aeoaigs 48) R IHM U T S&Hd eHard! 9ar g |

@A 11 : HTTP T8 UICIHTd ¢ ford 36 sT3ur 3R 49 9aR, $e3-ic W TP ORI YUY H=- o fod Uai &ed 3
SWRIGd FUH & 3P 1, A1d 14U 77U f[ddhed H T I8! 3R &1 999 DITog:

HUAI AR IS TT§

DY RIS AT

. PYTI I 8, Afe PYT I 3T B
YT AR, AfpT pUT 1 A ©

b =

W

Al
:AZ
A3
A4

4

4

Objective Question

34 47034 Which of the following statements A-C are correct about a Hard-Disk Drive (HDD) used as a storage device in computer?
A Tt has no moving parts

B. It is non-volatile
C. It uses magnetic properties to store data

Choose the correct answer from the options given below:

. A &B only
A& Conly
3.B & C only
4AB&C

[ SR
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PRI Y A-c § 9 B 3 Srge] 1 TRol {$d159 & T § UG 1S (5% gI3d (TIsie) & aR § 98l 82

A 590 Bls gaHH few (@fdn urd) el erar
B. U8 AM-aI0eIEd 8ial &
C. 08 TS & USRI & ol Fraatg il &1 waT axdl 51

Hi ST 7T fa el § 9 981 GTR &1 99 Bifelg:

1. %ad A IR B
2. Fad AR C
3. ®ada B IR C
4. A.B3RC

Al
A2
A3
A4

4

4
Objective Question

35 47035 Given below are two statements:
Statement I: (1011101); =(135)g

Statement II: (71)g = (111001),

In the light of the above statements. choose the correct answer from the options given below

1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false

4. Statement I 15 false but Statement II is true
9 @ o Ry g B
FYA: (1011101), = (135)g
DY : (T1)g =(111001),
SWRIdd B & 3HTale 1, i 13U T f[dPpeti ¥ 9 Tad Sugad SR &l T4 Pifig:

PYTI RIS T8 &
. PYA1 R 11 g1 Tad ©
YIS 8. AP pYT 1 TEd ©
Y 1719 ©, i1 YU 1T I8l &

b =

W

Al

A2
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A3
3
Ay
4

Objective Question

36 147036 gecretariate of convention on Biodiversity (CBD) is situated in

1. Geneva. Switzerland

2. New York, United States
3. London. England

4, Montreal, Canada

o fafasar geet sty (e @1 e oef a2

1. ST, fgeoRavs

2. TS, SR

3.qe . TS

4. gifeTd, SAST
Al
1
A2 5
2
A3 3
3
Ay
4

Objective Question

37 147037 \Which one of the following is included while estimating Air Quality Index (AQI)?

1. N,O Nitrous oxide

2. NO, Nitrogen dioxide

3. N,O5 Dinitrogen trioxide
4. N,O;5 Dinitrogen pentoxide

IR UG YA (USSTS) 1 TUFT PR GHY H=fiad o 3 foae! i fear o 82

1.N,0 (TZcd 3HaH1gs)

.NO, (FITECISH SE3HHES)
N0 (STEARCIOH TR3iaEs)
N,0; (SIETgcloH Uladgs)

[ 3=

o

1
A2
2

A3 3
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3

Ay
4
Objective Question

38 47038 wWhich among the following are Natural Green House Gases (GHGs)?

A. CO, (Carbon dioxide)

B. H,O (Water vapor)

C. CH, (Methane)

D. O3 (Ozone)

E. CEC (Chlorofluorocarbon)

Choose the correct answer from the options given below:

1.A.B. C.D only
2.A.C.D.Eonly
3.B.C.D.E only
4.A.B. C.E only

frefefEd & 9 SH-8 wiefae dHesy 19 Gieast) 82

A. CO, (T SEIHFES)
B. H,0 (Sid aIs)

C. CH, (H137)

D. O; (HIW)

E. CFC (SRIRIHRI B1a)

A fqu T fasmed § 9 98l SR &1 99 Sifeig:

1.$ddA.B.C.D
2. $ATA.C.D.E
3.%dd B, C.D.E
4. $9T A, B, C.E

Al

1
A2 5
2
3
Ay

4
Objective Question

39 47039 Carbon monoxide (CO). an air pollutant when inhaled readily binds with the hemoglobin in the blood stream to form a life threatering
compound known as

. Hemoglobous

. Carbo hemoglobin

. Carbon mono hemoglobin
. Carboxy hemoglobin

R
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1. feaEy
2. FElgHraIa

Al
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A3
A4

4
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Objective Question

1. Filtration

2. Sedimentation
3. Coagulation
4. Screening

1. e
2. 3G
3. ¥hoA

4. QYGBRUT (BB

Al
A2
A3

Aty
4

Objective Question
41 47041

3. Pra 1A fearaifan

4. HrEEdl ferraa

58_Live_PhyEdu_B1_E_1-100.html

4047040 which of the following is a chemical treatment in water treatment process?

d YieF wfoean ¥ HEfafad § 9§ oF-91 Ul IaiHe 9eE 82
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In the beginning of the 20t century in 1902, there were important engineering colleges at

A Roorkee

B. Madras

C. Kanpur

D. Sibpur (Bengal)
E. Poona

Choose the correct answer from the options given below:

1.A.B.D only
2.AB.D&E only
3A.B.C&Eonly
4. D only

2091 TS F IRY F 1002 § Ag@qul SR Sl oo 42
A TSI
B. HglH
C. PHER
D. faTR (&)
E.
i fau U fasedi T 9 T8l 3R &1 98 I

1.PIA A, B ARD
2. HdT A, B.D 3R E
3. HATA. B, C IR E
4.9dd D

Al

A2
A3
Aty

4
Objective Question

42 47042 Given below are two statements:

Statement I: The NEP2020 recommends the establishment of an academic bank of credit to facilitate the transfer of credits between the
institutions.

Statement IT:One of the objectives of NEP2020 is to inerease the number of multidisciplinary institutions in the country.

In the light of the above statements. choose the correct answer from the options given below

1. Both Statement I and Statement II are true

[ B

. Both Statement I and Statement IT are false
3. Statement I 1s true but Statement II is false

4, Statement I is false but Statement II is true
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9 S pyA Ry #:

am:nﬂ%ﬁ;g%:ﬁﬁr (@R 2020 B TRU137 & &9 Hioca & SR B Gl & [T sbsis 8P 3 Hhise &I R 31
fRymiesr |

B 11 : TN 2020 BT =0l H I Uh, 4% & agfavas Twusf o1 wen 1 ofE S gl

SWRIT BY & el 1, i 37U Y f[dPhedl ¥ 3 968 ST IR DI 99 Hiig:

HYT1 AR 1 ST 9T §
HYT 1R I SH TEd &
HYTI IS 8. AT pYT 1 TTEd ©
YA 17T B, Al U1 9E §

b =

= W

Al
A2
A3

Ay

4
Objective Question

43 47043 e become builders by building and we become just by doing what is just” In the light of this statement what can not be asserted?

1. Man is a virtuous being

2. Virtues are like skill

3. Skills are acquired by performing relevant activity

4. Virtue 1s a mechanical and non- ethical skill.
<0 i == § il 890 § SR O IERITd &1 & 89 P53 9 10 §99d 6 1 39 BUF & STaid | a1 o1 & 91y e
TG o Tl 82

1. 1 U Toft 7ot B

2. 0T DI & T g

3. B WA urea e ifold U ae g |

4. 701 U TifA® 3R Afas PR |
Al
1
A2
2

A3 3
3
Ay

4

Objective Question
44 47044
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In the light of Buddhist system of education student was expected to follow 'Das Sikha Padani' Which of the following dose not represent
the code of conduct:-

A. To avoid food at odd times
B. To avoid untrue speech

C. To relish music and dance
D. To avoid stealing

E. To accept gifts in charity

Choose the correct answer from the options given below:

1.A&B
2.B&C
N &ED
.C&E
@&'fﬁr%&nwﬁ&? it foemedf § <o Ryar veit &1 U o537 o e o1 7S off | FefiRed 8 3 o 3R SRar ot =6l

A, 3THY HISH el ST

B. 39 gl giaH|

C. i SR &1 &1 g Tl
D. IR Tl BT

E. &M H 3YeR WIHR B3|

i ST T fas el § 9 98l GTR BT 99 Biferg:

o

LA3RB
B3RC
.C3RD
.C3RE

|

= W

Al

A2

A3

Aty

4
Objective Question

45 47045 Given below are two statements:
Statement I: University of Punjab at Lahore and University of Allahabad were established during colonial rule in India.

Statement II: The main reason of their establishment was the inereasing demand in these places for higher education including 'Oriental' ¢
well as modern European education.

In the light of the above statements. choose the correct answer from the options given below

1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement IT is false

4, Statement I is false but Statement II is true
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46 47046
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9 S py Ry #:

P 1 : TTeR FUd IS faxafaeierd qul SaeTEls faxafaeed &1 Y-l YRd B Sii-afie - & GRH g5 |
FYA 11 : 3P| RITTHT 1 T SRO 59 R TR <fiRTea 3R 31yfe g0 Rier wfed 3=3 Rian @1 agdt T o
SWRIT BY & e H, i U Y f[ddhedl § 3 968 UG IR DI 99 Biig:

YT AR 1 S T §
HYT1 AR A AT &
YT IR B, AP HU I TEd ©
YA 17T B, Al U1 9El §

b =

W

Al
A2
A3

Ay

4

Objective Question

Read the passage and answer the questions that follows.

Given the precarious condition of its ground and surface water resources (rivers, stream, lakes, wetlands and reservoirs). India could be a
water-scarce country in the next 40 years. With 1.486 cubic meters (~1.5 million litres) of water available per person, per annum. India
talls in the water stressed category. A dip below 1000 cubic meters per person. per annum will push it into the water-scarce category.

The manner of water consumption also compounds the problem. Central Ground Water Board (CGWB) statistics show the indiseriminate
use of ground water turned 4% of the total 7,089 assessed units in the country eritical i 2022 while 14% were assessed as over-exploited
The situation was worse in 2017 when 17% of the units were over-exploited. Various recharge and conservation efforts have borne fruit
but the number of such units remain high in states like Punjab. Rajasthan, Harvana, Delhi. Tamil Nadu and Karnataka.

In India,87% of groundwater is extracted for irrigation and experts say excess withdrawal round the year may be the biggest reason for
depletion, as the recharge primarily happens in the monsoon. On the other hand encroachment of water bodies and the discharge of
untreated waste water into rivers and streams have reduced the surface water resources.

India will become water-scarce country if the availability of water per person per annum falls below

14

1 million litre
1.5 million litre

B e
14

=W

¢

4

1.2 million litre
100000 litre
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TR B ey SR P U $ SR i

YRA 0 Y90 SR Hag! od (et Saurisi, sidl, sreyfaat ok s o Arqe fufd & d@d gu. T 40 a9 4 UH
IT-STHTG ATl 1 & ST g |

Ui oafa uia 9y 1486 TFHIER (~ 1.5 AT diex) B o/ S ST F WY, YR Sfd-ait (3fedan) ot 4oft & smar g1 1000 99
e Tt aafad Uid ¥ 9 8 TR R 9H W T8 od B SANYS S8l St 4ot & 37 S|

T B @Ud BT ki U TR B SHfUE q¢1 Sl 5| D51 Y-0d as (Soiseyd) & Hibs qdd ¢ [ Y.-5d & e T 9
2022 F S E S BT 7080 SHEAT H T 4% HHCUR 81 715 § oaid 149@@641?1-3’@’?{%@1?3{@%3%7@%!

75 fUf 2017 7 o1fe SR M 99 179% SH1eal o1 2ifd-ale g U7l it gaRoT SR S0 Jarl 9 & g § IRy doe.
RTRRUTH, TIRATOT, e, THerg SR Plcd o <odl § U gorgdl & I3 SUe &1 g% o

YR T, 87% Yo7 Riarg & o1y Havma o & SR f99vs $8d & [ W Y R e oo (Fsh 0], 4. 5d &1 TR ueA &1
TG 931 PRUI & F1fb TR0 Wil &0 3 9HYH & 81 8id o | SeRi SR, STa=ii & Sfamaur SR Afeaf 3R Saurisd §
STERT (S9RRF) Fd & fago & Tae! ofd ge1eE § ST % o

HRd Wdl-3{HTd T S 81 S afe; Ui oafdd wid a¥ wid &1 Suasdl e € & 81 odt &

.~ 1 Tferm dier

~ 1.5 fafema dieR

~ 1.2 fafma dieR

.~ 100000 fAferg dex
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Objective Question

47 47047 Read the passage and answer the questions that follows.

Given the precarious condition of its ground and surface water resources (rivers, stream, lakes, wetlands and reservoirs). India could be a
water-scarce country in the next 40 years. With 1.486 cubic meters (~1.5 million litres) of water available per person, per annum. India
talls in the water stressed category. A dip below 1000 cubic meters per person. per annum will push it into the water-scarce category.

The manner of water consumption also compounds the problem. Central Ground Water Board (CGWB) statistics show the indiseriminate
use of ground water turned 4% of the total 7,089 assessed units in the country critical in 2022 while 14% were assessed as over-exploited
The situation was worse in 2017 when 17% of the units were over-exploited. Various recharge and conservation efforts have borne fruit
but the number of such units remain high in states like Punjab, Rajasthan, Haryana, Delhi. Tamil Nadu and Karnataka.

In India.87% of groundwater is extracted for irrigation and experts say excess withdrawal round the year may be the biggest reason for
depletion, as the recharge primarily happens in the monsoon. On the other hand encroachment of water bodies and the discharge of
untreated waste water into rivers and streams have reduced the surface water resources.

In the year 2022 how many units of water assessed by CGWB were found to be over-exploited?

~ 283

~ 992

.~ 1276

4. ~ 1006
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Read the passage and answer the questions that follows.

Given the precarious condition of its ground and surface water resources (rivers, stream, lakes, wetlands and reservoirs). India could be a
water-scarce country in the next 40 years. With 1.486 cubic meters (~1.5 million litres) of water available per person, per annum, India
falls in the water stressed category. A dip below 1000 cubic meters per person. per annum will push it into the water-scarce category.

The manner of water consumption also compounds the problem. Central Ground Water Board (CGWB) statistics show the indiscriminate
use of ground water turned 4% of the total 7,089 assessed units in the country critical in 2022 while 14% were assessed as over-exploited
The situation was worse in 2017 when 17% of the units were over-exploited. Various recharge and conservation efforts have borne fruit
but the number of such units remain high in states like Punjab, Rajasthan, Haryana, Delhi. Tamil Nadu and Karnataka.

In India.87% of groundwater is extracted for irrigation and experts say excess withdrawal round the year may be the biggest reason for
depletion, as the recharge primarily happens in the monsoon. On the other hand encroachment of water bodies and the discharge of
untreated waste water into rivers and streams have reduced the surface water resources.

Assuming that the total number of ground water units assessed by CWGB in the years 2017 and 2022 were same (1., 7089). What is the
difference between the number of over-exploited units in 2017 and 20227

~213
~ 216
.~ 260
~ 354

TRl T o R P Al 3 IR ST

YR U 1570 SR Gag! o (et Sreurist, sitel. sreyffal iR semsp) o Ao ffd B d@d §U, T 40 a9 1 e
ST- 37T ATl &% & Wbl o

Hiq eafdd ufa oy 1486 TFHIER (~ 1.5 TBfe@A tieR) & o/a & ST & 1Y, YR Sd-ait (3edqan ot 4oft F snar g1 1000 89
e vfy oafdd ufa o 9 &8 TR RS 9 6 §d 31 ST HHl @i Jult 5 311 Se|

e 1 @Ud D1 k] U GrR 1 e ggl &dl € | 510 1U-6id 8IS (HisilSscgal) & 3PS §dld ¢ [d Y-57e & uTge Tgi g
2022 T G el ST Ierd 7089 wmu‘iﬁ@mﬁm@mﬁ%aﬂﬁ?14%@&%-&%?{%@1?3{@1%‘13%7&17@%

7e [ 2017 7 oifie gadx At 919 17% SH1sdl o1 Sifd-ale g3 U1 afd= gRuT SR TRe0T yarel 9 a1y g § Ry Uue.
RToredTE, giearon, e, aftremrg SR Fled ok Xedi § Uil gaigdl @ 93 Sift@ & g5 o

YRd H, 87% -5 RidTg & A7 HepTe oiar & SR [a29s Sed ¢ i 92 a9 1R 31¥e 157d [Fepyu], 178 &1 &R 9 Bl
T IST PRI § ifep GAHR0T UIuilies U 3 OG- 5 81 8lal ¢ | GER1 3R, Te=il & SlashHul iR Afqdl 3R FayRrmsi &
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R

T Eforg s awif 2017 SR 2022 T T Sewg o ot gRT S ferd Y- So1sal &t a S A (3yfd 70s9)2f, @ 2017 3R 2022
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4
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Objective Question
49 147049 Read the passage and answer the questions that follows.

Given the precarious condition of its ground and surface water resources (rivers, stream, lakes, wetlands and reservoirs). India could be a
water-scarce country in the next 40 years. With 1.486 cubic meters (~1.5 million litres) of water available per person, per annum, India
falls in the water stressed category. A dip below 1000 cubic meters per person. per annum will push it into the water-scarce category.

The manner of water consumption also compounds the problem. Central Ground Water Board (CGWB) statistics show the indiscriminate
use of ground water turned 4% of the total 7,089 assessed units in the country critical in 2022 while 14% were assessed as over-exploited
The situation was worse in 2017 when 17% of the units were over-exploited. Various recharge and conservation efforts have borne fruit
but the number of such units remain high in states like Punjab, Rajasthan, Haryana, Delhi. Tamil Nadu and Karnataka.

In India.87% of groundwater is extracted for irrigation and experts say excess withdrawal round the year may be the biggest reason for
depletion, as the recharge primarily happens in the monsoon. On the other hand encroachment of water bodies and the discharge of
untreated waste water into rivers and streams have reduced the surface water resources.

Which of the following states have been found to have high number of over exploited units of ground water?

A Rajasthan and Delhi

B. Punjab & Haryana

C. Uttar Pradesh

D. Tamil Nadu & Karnataka
E. Madhya Pradesh

Choose the correct answer from the options given below:

1.A.B.C & D only
2.A.B. &D only
3.B.C.D & E only
4 AB.C,DE

TR 1 W IR B e 3 IR T

YR AU H-57d SR Ydgl o (Al Siaerisi, siel, srsyfal R SeRr) o Ao ffd B d@d gu, T 40 a9 0 UH
Sd-3{HTd aTell &% & Yehal 5 |

giq eafa ufa oy 1486 T9H1eR (~ 1.5 Tfome dieR) & o/a @ ST 1Y, YR oid-ait (3feqan ot 9uft & smars |1 1000 89
Hiex wfa cafad wfa av 9 &8 TR R O W T8 9d DI SAidS ool o 9t F o1 S

S 1 @Ud D1 aRie] Ul TR B S 9¢1 4l g | a0 Y-oid 915 (HiuilSsegal) & Hibs §dld ¢ [ Y-57c & SfeTge Tgi ¥
2022 T 3R H P MBI 7080 SHIRUT T U 4% HHeUd gl 715 § oidic 14%15@&%-&%?%@1?34@1%‘1‘:[%@%!
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T 981 HRUI § Fi1eb IR0 UIuiles U I 9gH 5 81 8ldl o | G¥R1 SR, Ta=il & MashHul SR el 3R Faerms] &
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Objective Question

30 47050 pead the passage and answer the questions that follows.

Given the precarious condition of its ground and surface water resources (rivers, stream, lakes, wetlands and reservoirs). India could be a
water-scarce country in the next 40 years. With 1.486 cubic meters (~1.5 million litres) of water available per person, per annum, India
falls in the water stressed category. A dip below 1000 cubic meters per person. per annum will push it into the water-scarce category.

The manner of water consumption also compounds the problem. Central Ground Water Board (CGWB) statistics show the indiscriminate
use of ground water turned 4% of the total 7,089 assessed units in the country critical in 2022 while 14% were assessed as over-exploited
The situation was worse in 2017 when 17% of the units were over-exploited. Various recharge and conservation efforts have borne fruit
but the number of such units remain high in states like Punjab, Rajasthan, Haryana, Delhi. Tamil Nadu and Karnataka.

In India,87% of groundwater is extracted for irrigation and experts say excess withdrawal round the year may be the biggest reason for
depletion, as the recharge primarily happens in the monsoon. On the other hand encroachment of water bodies and the discharge of
untreated waste water into rivers and streams have reduced the surface water resources.

Identify the factors responsible for depletion of water resources.

A High consumption of water in agricultural sector

B. High consumption of water in Commereial sector

C. Encroachment of water bodies

D. Excessive water use in domestic sector

E. Discharge of untreated waste water in rivers and streams.

Choose the correct answer from the options given below:

1LA.C.D & E only
2.A.B.C&E ouly
JJA.B.C.D.E
4. A, C &E only
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Objective Question

147051 papieration game is combination of :

1. Bagketball and Handball

2. Boxing. Judo and Wrestling
3. Wrestling and Boxing

4. Boxing and Judo

Upe W A FrRaferiad # 9 & 9 9e 2fier 81d 82

1. RPead 3R esard

2. FHaTel, SS 3R P
3. P SR
4. g aTSl 3R TS
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